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Question Number : 1 Question Id : 7155054222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
LetA={1.2.3.4.5.6,7}. Thentherelatton R={(x. ) EAxA:x +y =T} 1s

Options:

71550513341.

71550513342.

71550513343.

71550513344,

retlexive but neither symmetric nor transitive

symmetric but neither retlexive nor transifive

transitive but neither symmetric nor reflexive

an equivalence relation

Question Number : 1 Question Id : 7155054222 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

—all e =

E =
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Correct Marks : 4 Wrong Marks : 1
OATA={1,2.3.4.5.6 71 el A UEYR={(x. ) EA*xA:x +y =T

Options:

11550513341 A0 § U] A ol GHT € = 8l Hoh1id §

71550513342. AT § WRq 7 dl WD © 7 ol HhiHD ©

71550513343, SPTHS & UR=q - ol TWded & - 61 GHEA ©

71550513344, P Qoddl HSH &

Question Number : 2 Question Id : 7155054223 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| C1+2isin . . S
Let A=10€(0,27): ™ — 1s purely imagmary ;. Then the sum of the elements in A is
= I S1©

Options :

71550513345. 2 «

71550513346. 3 7

71550513347. 4 1

71550513348.

=

Question Number : 2 Question Id : 7155054223 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A=10 (0, 27): 2800 o o s b | AT Sfaudl &1 T &

] —ism6

Options:

71550513345. 2

71550513346. 3

71550513347. 4

71550513348, @

Question Number : 3 Question Id : 7155054224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let S be the set of all values of 0 € [-1, ] for which the system of linear
equations

—
X+ Y+ -x-'3 z =)

—x+(tanB) y+v7z =
fr+_l-’+{[ﬂﬂﬂ}z = ()

120
has non-trivial solution. Then Z B is equal to
T Pes
Options :
71550513349. 10
71550513350. 20

71550513351, 30

71550513352, 40
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Question Number : 3 Question Id : 7155054224 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U168 € [-1, w] & 4T 71, [oHa oU 39 gHiau HaY
.?i’i—rl-‘-l-xl'riifﬂ

—x+(tanB) y + J7z=0

x+y+(tan0)z=0

T 3 501 ¢, PT UG S BTl — » 0 TR

Options:

71550513349. 10
71550513350. 20
71550513351, 3U

71550513352, 40

Question Number : 4 Question Id : 7155054225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

»

it A= LA =g A+pland o+ p=-2, then 40~ + B~ + 1~ is equal to :

Options :

71550513353. 10

71550513354, 1.
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71550513355. 14

71550513356. 19

Question Number : 4 Question Id : 7155054225 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 5 . . o -
g 4= | Al=agA+pITUTa+P=—27%, dl 402+ B2+ NN g:

Options:

71550513353. 10

71550513354, 1.

71550513355. 14

71550513356. 19

Question Number : 5 Question Id : 7155054226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I the number of words, with or without meaning, which can be made using all the
letters of the word MATHEMATICS 1n which C and § do not come together. 1s
(6!)k. then k 15 equal to

Options:

71550513357, 945

71550513358. 1890
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71550513359, 2835

71550513360. 3670

Question Number : 5 Question Id : 7155054226 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfe Ted MATHEMATICS & JHT 38R & YGRT 8 &-1T S Yoo aTat, 4q0l 41
3UEH Yeal, foH ¢ dYTS UP YY1, B BT (61)k 8. T k TSR © -

Options:

71550513357, 945

71550513358. 1890

71550513359, 2835

71550513360. 3670

Question Number : 6 Question Id : 7155054227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
25190 19130 _ 810+ 2190 i divisible by
Options:

71550513361. both 14 and 34

71550513362, 14 but not by 34
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71550513363, 34 but not by 14

71550513364, neither 14 nor 34

Question Number : 6 Question Id : 7155054227 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
190 _ 19190 _ @150 | 5190

1-1-'
=)

Options:

71550513361 14 4l 34 G| @Tﬁﬂ—ﬂﬁj}%

71550513362, 14 1 AHIST § T 34 ¥ el

21550513363 34 H [dUST § U= 14 ¥ el

71550513364, 1 dl 14 A T8l 34 4 f[dusg ©

Question Number : 7 Question Id : 7155054228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

y L

l

The absolute difference of the coefficients of x'" and x' in the expansion of [1;3 : Ml ] 5 equal to

h5

o

Options:

71550513365. 11° — 11

71550513366, 12° — 12
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71550513367, 10° — 10

71550513368. 13- — 13

Question Number : 7 Question Id : 7155054228 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

( V- N g 7 N AN, .
[zx? +._;l_] & UER H x10 qul «” & TUrieh] 1 (ARUES 3R sRIeR 8
LX

Options :

71550513365. 11° — 11
71550513366, 12° — 12
71550513367. 10° — 10

71550513368, 13- — 13

Question Number : 8 Question Id : 7155054229 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

i
Leta, be the 0™ term of the series 5+ § + 14+ 23+ 35+ 50+ ... and Sy =Z a,. Then S3p—ay; 1s equal to
k=l

Options:

71550513369, 11260
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71550513370. 11280

71550513371. 11290

71550513372, 11310

Question Number : 8 Question Id : 7155054229 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-,

Options:

71550513369. 11260

71550513370, 112380

71550513371. 11290

71550513372, 11310

| n
AT A0 5 + 8+ 14+23 +35+ 50 +... BIn UGa, SAUS, =) a, T

k=l

Question Number : 9 Question Id : 7155054230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If o> P > 0 are the roots of the equation ax® + bx + 1 = 0, and

{ .. '
] —cos(x" + bx + .:?)

lim .
.I’—}tlr, ! 2([ - E’II)-

3

]

1 1)

— A_-

|

g a)

. then k 1s equal to

~
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Options:

71530513373, G

71550513374, P

71550513375. Za

71550513376, 2P

Question Number : 9 Question Id : 7155054230 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gi¢ DI ax” +bx+ 1 = E]a’_»']:lﬁca?ﬁ?* 08 Yl
|

N

{ . _
]—cns(r“—I—bawfr) ) N = o |
[1m . :l(i_l ®. dl k SYE% 6
- o | - AW :
=zl 2(1-ax) kP a
Options:

71530513373, 1

71550513374, P

71550513375, Za

71550513376. <D

Question Number : 10 Question Id : 7155054231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

;
o

The integral j =
|l‘!'-. *1 ,-'l *T z"l }Jl

Options:

Y 2\
__ —l— —_ —1- {:.'
71550513377, \. 2 X

X . w &
== | = =] 4
71550513378.(2, X

) A 2 ._"L . |
+[—- | | log, x dx 1s equal to

Question Number : 10 Question Id : 7155054231 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r’,.f_\,-.t J?H.T"‘* |
HJ-Elq?ﬂ’“[j I—] +[:J J log, x dx 'ﬁﬁl'ﬂh{%:

4

I'\-I'k"'-",.-' .-1_

Options:

¢ o
(e
71550513377.\2./ \x

R .-"'___}"T
GRERE
71550513378. \. 2. X

1
71550513379_[ ; s

~
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r’r‘-.-"" R
- ‘ log, — ‘+{'
71550513380. \ 2 X

Question Number : 11 Question Id : 7155054232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let O be the origin and OP and OQ be the tangents to the circle x*+ 17 = 6x + 4y + § = 0 at the points P and Q
s . , | 1
on it If the circumeircle of the triangle OPQ passes through the point [ 0=

\ 2,

. then a value of o 15

Options:

1

71550513381. 2

71550513382. 1

3
71550513383. 2

D
71550513384, 2

Question Number : 11 Question Id : 7155054232 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O 0 4af foig 8 4T OP SR 0Q Gl x2 + 1% — 6x + 4y + 8 = 0 & f6gad PAUTQ
0R ¥R @1l § | afe FAYs orQ &1 uikgw, fég[a,ﬂi‘fﬁma SITdl ©. Al o @1

U OH ©;
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l

71550513381. 2

71550513382. 1

2 |

71550513383. -

-’
71550513384. 2

Question Number : 12 Question Id : 7155054233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let A(0. 1), B(1. 1)and C (1, 0) be the mid-points of the sides of a triangle wath

incentre at the point D. If the focus of the parabola v~ = 4ax passing through D is

o
(EE - ﬁwﬁ O],_ where o and [ are rational numbers, then ﬂg 15 equal to
Options:
9
71550513385. 2

71550513386. O
71550513387. &

71550513388. 1.

Question Number : 12 Question Id : 7155054233 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

01 U [AYS D Y3l & &g fdg A (0, 1), B(1, 1) TYU1 C (1, 0) © AU SHP
3{d:d5 fdg D W T 1 Tfg D U BIH S Tl URaad 32 = 4ax Sl 1Y

(2 + /2,0 8. 5Tt o T p T T B, ; TR T
Options :

2
71550513385, 2

71550513386. 6

71550513387. &

71550513388. 12

Question Number : 13 Question Id : 7155054234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

| _x-1 y=2 743
Let P be the plane passing through the lme 1T= ‘1 — = ;
—3

point (-1, 3, 4) in the plane P s (o, P, v) then o+ P+ y 15 equal to

and the pont (2, 4. -3). If the 1mage of the

Options:

71550513389.

71550513390. 10

71550513391. 11

71550513392. 12
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Question Number : 13 Question Id : 7155054234 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o | r—=1 =2
o1 fdg (2, 4, -3) qUI @] "*‘11 . E'_:
—J

afe; feg (-1, 3. 4) 1 9Idd P H Uidldd (0. p. ) 8. Al o+ p+ p R B:

) JEHT o I IHIA P B

Options:

71550513389.
71550513390. 10

71550513391. 11

71550513392. 1.

Question Number : 14 Question Id : 7155054235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fora,b € Zand a—b <10, let the angle between the plane P: ax +y—z=b and

%

0 - Al T ) s ; .,
the linel: x-1=a—y=z+1becos ' [; . It the distance of the point
=y

(6, —6, 4) from the plane P is 34/6, then a* + b” is equal to
Options:

71550513393. 235
71550513394, 3.

71550513395, 48

71550513396. &3
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Question Number : 14 Question Id : 7155054235 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
a,be ZdUTja—b/ =10 P [oY, AT HHAG P: ax + y—z =b AUl

WER :
Wl :x-1=a—y=z+1D &ld PI R cos 'H—|%|Eﬂ?1%§(¢ 6, 4) Pl
ade A 346 B, dla* + b? RIET &:

Options:

71550513393. 25
71550513394, 3.2
71550513395, 48

71550513396. 83

Question Number : 15 Question Id : 7155054236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the quadrilateral ABCD with vertices
A(2.1.1).B(1,2,5).C(-2,-3.5)and D (1, -6, —-7) 15 equal to

Options:

71550513397, 48

71550513398. 8/38

71550513399.9wﬁﬁ§
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71550513400. 34

Question Number : 15 Question Id : 7155054236 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3i|Eii'A{ET 1.1, B(1.2,.5).C(-2,-3,5qd4dlD(1.-6,-7) & thj,'ljiu‘i ABCD 9]
aﬁmﬂ%:
Options:

71550513397, 48

71550513398, 8v/38

71550513399. 938

71550513400. 34

Question Number : 16 Question Id : 7155054237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the vectors i = | + j+ ak, i, —f+b;+!x Emdu —Cf+j+k be

coplﬂmr Ifthewcmisu, (u+.~_‘:}: -LCJI' + ck; V, =d i +(b+f_ }J+uﬂ and
Vo =b i +f;y , ((, -|-,,;;)k are also coplanar, then 6 Ea +b + ¢) 1s equal to

Options:

71550513401. O

71550513402, 4

&collegeduniaﬁ
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71550513403. 6

71550513404, 12

Question Number : 16 Question Id : 7155054237 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

RIEINIER! ﬂ‘,—:+;+ﬂk uﬂ—;+b,.r+k asly, --f’I+Jr+i SESKIRE]
LI.,QHR—ET;I (a h}f ¢f +ck: vy =ai (b ¢) J + ak. 41
—EH+!J;J-((+.:.')."( qﬁ*‘dﬁrdﬁﬂq% dl6(a+b+c)WER T:

Options:

71550513401. O

71550513402. 4

71550513403. 6

71550513404, 12

Question Number : 17 Question Id : 7155054238 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the probability that the random variable X takes values x 15 given by
PX=xFk(x+1)37" ", x=0,1. 2, 3, ... . where k 1s a constant, then P(X > 2) 1s
equal to

Options:

&collegeduniaﬁ

S



71550513405. 18

1]
71550513406. 18

-
71550513407. 27

20
71550513408. 27

Question Number : 17 Question Id : 7155054238 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Ulelw5® 93 X & HMH x o Bi
WS A P(X =x)=k (x +1)3 %, x=0, 1,2, 3, ... ©, 16l k TP 3R B, A P(X > 2)

a5
Options:

71550513405. 1

1]
71550513406. 18

7
71550513407. 27

20
71550513408. 27

~
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Question Number : 18 Question Id : 7155054239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the mean and variance of 12 observations be — and 4 respectively. Later on, 1t was observed that two
7

==

, | o | . .m
observations were considered as 9 and 10 wnstead of 7 and 14 respectively, If the correct variance 1s —, where
n

m and n are coprime, then m + n 15 equal to
Options:

71550513409. 314

Ly

71550513410. 31
71550513411. 316

71550513412, 317

Question Number : 18 Question Id : 7155054239 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIAT 12 0Tl & HIeH 1 TRV A 2 41 4 § | 916 8 g8 Uran 7141 fah <)
&Il 7 TUT 14 & ST 9L HhHSE o Yl fﬂ@fﬁmwﬁlﬂiﬁrﬁﬁ H*H{UTE%_.GEET
m AUl s Al % dl m + n GIER %:

Options:

71550513409. 314

71550513410. 315

71550513411. 316

a
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71550513412, 317

Question Number : 19 Question Id : 7155054240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The value of 36 (4 cos” 9° — 1)(4 cos” 27° — 1)(4 cos” 81° — 1)(4 cos” 243° — 1) is
Options:

71550513413. 18

71550513414. 27

71550513415, 36

71550513416. 34

Question Number : 19 Question Id : 7155054240 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
36 (4 cos® 9% — 1)(4 cos® 27° — 1)(4 cos® 81° — 1)(4 cos? 243° — 1) BT HM ©&:

Options:

71550513413. 18

71550513414. 27

71550513415. 36

71550513416. 34
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Question Number : 20 Question Id : 7155054241 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

E

The negation of ( p A(~g))v(~ p) is equivalent to

Options :

71550513417, P ¥ (av(~p))

71550513418. P "4

71550513419, P A~ 9)

71550513420. palga(~p))

Question Number : 20 Question Id : 7155054241 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(pA(~q))v(~ p) BT HYYH gD Tl 6?

Options:

71550513417, PV (9 v(~ P))

71550513418. P "4

71550513419, P A [~ 9)

71550513420 P M2~ (~ p))
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Mathematics Section B

SectionId: 715505260
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505260
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155054242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b i

m

+ €08

2 -3 +4

- 18 (0, p) U ( 7. 5],’[11!21113{{12"’ ]32+ ;rE—QEE}
-5

62" +3x+1

2x-=1]

If domain of the function log .

15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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10

Question Number : 21 Question Id : 7155054242 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(2x"—3x+4

Ix—

i
]
]

I CRITNE log ,

—1

- COR

6x~ +Sx+1 |

2x—1

&1 Wid (0. B) U (3. 6] B.

ar 18 (e2+ P22+ 39) TSR B
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054243 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let m and n be the numbers of real roots of the quadratic equations
v —12x+[x]+31=0and x* -5 |x+2 | —4 = 0 respectively, where [x] denotes

; 2 2 '
the greatest integer <x. Then m~ + mn + n° 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 22 Question Id : 7155054243 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT HHIBION 2 — 125+ [x] + 31 =0 AU 2 — 5 | x+ 2| -4 =0 P dIdfdd gail
& T HHI: m dYUl » % GIET x| HetlH "ﬂ\UITGI? ji 1‘%] dl m+mn+n? G %‘:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054244 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
LetR=4{a.b.c.d. e} and S= {1, 2. 3, 4}. Total number of onto functions /: R—5
such that f(a) £1. 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155054244 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AHIR ={a. b.c.d. e} TUTS = {1.2.3. 4} B | 3TDBGD Bl f: R—S oD

feTU £(a) #1 B, DI S TS &
gcollegeduniaa

S

Response Type : Numeric




Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054245 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 1 . ; .
Let 0 <z <y < x be three real numbers such that —,—,— are i an arithmetic
Xy zZ

— 3
E |l = 2 " ig vy 4 |or PR A — : all 1
progression and y /2y, z are n a geometric progression. [T xv + vz + za 5 XVE

,then 3(x+y+ z_)'i 15 equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155054245 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S —_ Lo -
HTdH TRafd®d Y@Ml 0 <z <y <x SAUPR B [ —,—,— TP JHR g1 H
A ¥V 2

.ﬂ

B YT y, 2y, z TP QUIR S H E 1 Tfday + pz+ 2 = ﬁ xyz B, dl

3(x+y+z) A
Response Type : Numeric

Evaluation Required For SA : Yes

M~ _ ___war_ __ 1 ™S _ _ ___a _ \IFI
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054246 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let k and m be positive real numbers such that the function |
81'(8)

1s ditterentiable tor all x > 0. Then f'[ [‘ﬁ‘ 15 equal

8 )

y 4 1-3,1’2 + ik x+1. O<x<l
flx)=: S

o 3
‘_ mx= + K", xz1

10

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155054246 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHT YT aRdidd SEU k dUT m 29 SR © fdb Bad

31'(8)
)= 3 TRVEHL 0<x<l g o 3% Ru smpaE 1A 1) R
mx- + k- xz21 M”
| \

g

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054247 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
24

Let |f] denote the greatest integer function. It j [f} de = + ﬁ\E +7 JE +5 ‘E then a+f+7+d1s
()

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155054247 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2.4
T[] e e B 813 [[12 ] dv=ar+ py2 + 743 +8V5 &

Ao+ f+y+6 R B:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1N
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Question Number : 27 Question Id : 7155054248 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the area enclosed by the lines x = v =2, y=0,x = 0 and the curve f(x)=min{x" +=, | +[x]} where [x]

4

denotes the greatest mnteger < x, be A, Then the value of 12 A s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155054248 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7T [x] Ho0H YU < x B AFTEIS x +y=2, y=0.x = 0 qUI b

& . . -3 = ) =
f(x)=min< x° '*':l‘_-. | +[x]: SRR ST BT &ETRd Al dl 12 AR H

Response Type : Numeric

L
K1
e

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054249 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time: 0




_ . L = e v :
Let the solution curvex =x (v), 0<y< = of the difterential equation

(log. (cos 1))* cos y dx — (1 + 3x log,(cos v))sin y dy = 0 satisfy IL; =
/

2log, 2

.\' |

-, where m and n are coprime, then mmn 1s equal to

Ifi( J
6/ log m—log n

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155054249 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHT 3 d HIBIU] (log, (cos 1]]‘ cos y dx— (1 + 3x log.(cos y))sin y dy =0

Pleddd x=x(y).0<y *—iz : T{EJ ﬁﬁﬂg@ m{ﬂ[%| qﬁ

2°"\3) 2log,2

_’([E]— : % el m dYUl » WW% il mn ﬂ(l'ﬁ{%
6) log m—log n

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 29 Question Id : 7155054250 Question Type : SA Calculator : None

&collegeduniaﬁ

S

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




The ordinates of the points P and Q on the parabola with focus (3, 0) and directrix x =-3 are m the ratio 3;1. If

¥

p

R (o, B) is the point of intersection of the tangents to the parabola at Pand Q, then 2 is equal to
;:'r

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155054250 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oRaerd foraep] =13 (3,0) 9UT fRgdl x = -3 §, & fdgail p qur @1 sifeal
3:1 % AU H €1 TfE P AU Q W WRaTy el oA SRETE

ﬁ—ch (e, B) %, 'l_'ﬁﬂ—l Gx | &, %

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054251 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let Py be the plane 3x — y— 7z = 11 and P, be the plane passing through the points
(2.—1.0). (2. 0. =1). and (3. 1, 1). If the toot of the perpendicular drawn from the

point (7, 4, —1) on the line of intersection of the planes Py and P, 15 (a. p. 7).
then o + [ + v 1s equal to

&collegeduniaa
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155054251 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP, HAd 3x—y— 7z= 11§ a4l [§g3{f (2. -1. 0), (2. 0, 1) T (5.1, 1) ¥
R I aTel THdd P, o 73 fdg (7. 4, 1) T 9HIa! P, TUT P, B! Hidwdar
TG R BTe] U 69 BT UG (0. B, 7) 8. Al o+ p+ 7 TSR &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Physics Section A
SectionId: 715505261
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Section type: Online
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Enable Mark as Answered Mark for Review and

Yes
Clear Response :
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505261
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 31 Question Id : 7155054252 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II

fticient of viscosity

Choose the correct answer from the options given below:
Options:

71550513431, A-lL B-IV, C-1, D-II

71550513432, A-ll, B-I. C-IV, D-III

71550513433, A-1I, B-IV, C-I, D-III

71550513434, A-IV, B-1I, C-1II, D-I

Question Number : 31 Question Id : 7155054252 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegeduniaﬁ

S

Instruction Time: 0




Correct Marks : 4 Wrong Marks : 1
It 1 1 Il 11 & 1Y T DY

w0 w§Em
Ajwgomg 00 [ta?r? 0

E

E-

i f¢U T famedl © ¥ Tgl IR I:

Options:
71550513431, A-lL B-IV, C-I, D-II

71550513432, A-lL B-I. C-IV, D-1I1

71550513433, A-lL. B-IV, C-I, D-III

71550513434, A-1V, B-1I, C-1II, D-I

Question Number : 32 Question Id : 7155054253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For particle P revolving round the centre O with racivs of cireular path r and angular velocity @, as shown in
below tigure, the projection of OP on the x-axis at time t 15

Options:

71550513435, X (t) = rcos(wt)

gcollegeduniaﬁ
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. T
x(t) = rcos ({ut - —cu)
71550513436. 6

x(t) = rcos (mf + E)

71550513437. 6

x(t) = rsin (wt -+ E)

71550513438, 6

Question Number : 32 Question Id : 7155054253 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 21 & TR, « IS 161 U R IO 7 0 § v 0 O )T 3R AT PV P & o, ¢ R
0P BT v-3HY TR WYTU] (FIod9H) B

V Pm

Options:

71550513435, X () = rcos(wt)

N T
x(t) = rcos (mt - —m)
71550513436. 6

L) = reos (mt + E)

71550513437. 6

L]
&collegedumaa
India’s largest Student Review Platform

S



T
x(t) = rsin (mt + —_)

71550513438. 6

Question Number : 33 Question Id : 7155054254 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The temperature at which the kinetic enerey of oxygen molecules becomes double
than 1ts value at 27°C 1s

Options:

71550513439, 327°C
71550513440. 627°C

71550513441, 927°C

71550513442, 1227°C

Question Number : 33 Question Id : 7155054254 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHGIERISRSERIECIEEIEE R SIEIRIRE Sl &I HH 3% 27°C d9a
0R TTitol el o A1 &1 SHRHT g1 S, 98 B

Options:

71550513439, 327°C

71550513440. 627°C

71550513441, 927°C
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71550513442, 1227°C

Question Number : 34 Question Id : 7155054255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Work done by a Carnot engine operating between temperatures 127°C and 27°C 1s
2 kJ. The amount of heat transterred to the engine by the reservoir 1s :

Options:

71550513443. 2 k]

71550513444, 2.67 kI

71550513445, 8 kl

71550513446. 4 k]

Question Number : 34 Question Id : 7155054255 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

127°C U4 27°C AMYHMI & T HId UD $1] ool g fhdT T H1d 2 kI § |
USSR GRI 5ol & 31 75 S 1 °1H1 6

Options:

71550513443, 2 k]

71550513444, 2.67 kI

71CcCcNC124AAE 9 1-7
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71550513446. 4 kI

Question Number : 35 Question Id : 7155054256 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A hydraulic automobale lift 15 designed to Lift vehicles of mass 5000 ke, The area of cross section of the

Ly

eylinder carrying the load 15 250 em”. The maximum pressure the smaller piston would have to bear 1
[Assume g = 10 m/s"):

Options:

71550513447, 20 » 107 Pa
71550513448. 2 = 107 Pa
71550513449, 200 = 107 Pa

71550513450. 2 = 1070 Pa

Question Number : 35 Question Id : 7155054256 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T BISgId SMETHIEST (% @ 5000 kg F0THIA T & dTg] @I S & (e &1 701 5| YR 35H
Tt §T PI 3R BIE BT 4B 250 e’ § | HUETHA BIC [0k GRT Hg ol Yo Tl HIUHaH a8
%(v[ﬁ:ﬂ o= 10 m/s")

Options:

71550513447. 20 x 107° Pa

a
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71550513449, 200 = 107 Pa

71550513450. 2 = 107 Pa

Question Number : 36 Question Id : 7155054257 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acceleration due to gravity at height h above the earth 1f h="<R (Radius of
carth) 1s given by

Options:

, [ 2!’?}
g =g/l
71550513451. R

, [ h
g=g||l——
2R )

71550513452. N <~
: { h- )

E:gl'jq
71550513453. 2R™ )

71550513454.

Question Number : 36 Question Id : 7155054257 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0

Correct Marks : 4 Wrona Marks : 1




gl h<<R (i Dt A=), gt I h Fars W @y @0 gi:

Options:

, 2h
g =g|l
71550513451. ~ K

71550513452. \

.
r h-
g=9g|]1-——

2R°

71550513453, -

71550513454.

Question Number : 37 Question Id : 7155054258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The orbital angular momentum of a satellite 1s L, when 1t 1s revolving in a circular
orbit at height h trom earth surtace. It the distance of satellite trom the earth
centre 13 mereased by eight times to 1ts mitial value, then the new angular
momentum will be-

Options:

71550513455, 3L

71550513456. 4L

71550513457. &L

71550513458. 9L

]
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Question Number : 37 Question Id : 7155054258 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ged dd § h $dlg W goiid B&1 T GRPHU B I8 Ub SUUE B Hag vy
AL g1 9i¢ g2l & e I JUUE B a3l Bl 59d WRIBHD HH &1 3116 THI
g¢] (a1 91U, di 591 S 1vltg &9 BT

Options:

71550513455, 3L

71550513456. 4L

71550513457, &L

71550513458. 9L

Question Number : 38 Question Id : 7155054259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements.
Statement I : Area under velocity- time graph gives the distance travelled by the body in a grven tune,
Statement IT : Area under acceleration- tume graph 1s equal to the change m velocity- m the given time.

In the light of given statements, choose the eorrect answer from the options given below.

Options:

71550513459, Both Statement I and Statement IT are frue.

71550513460. Both Statement I and Statement II are False.
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71550513461. Statement I 1s correct but Statement IT 15 false.

71550513462. Statement I 1s incorrect but Statement I 1s true.

Question Number : 38 Question Id : 7155054259 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

S E GG AR

PY 1 : J7 THY ARG & 1 BT &%, 9% GRI [T T WG 5 g 31 71
o3l @] Wi &l g

PYF 11 : RO AT ARG & i T &=, 4y T I # 97 H gU IRaH
P T PR

3YUad Byl & e 1, 414 feu v fadedi & ¥ 9aiidd Sugad IR 94:

Options:

21550513459 PYA 1 U4 HYF I I A G|

21550513460, DY I TG HUA 11 &I A B |

1550513461 DU 1 TA § U] HY 1 7T00d § |

71550513462, DU [ A § T FUT I HA G

Question Number : 39 Question Id : 7155054260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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The trajectory of projectile, projected from the ground 15 grven by = x - . Where x and y are measured 1n
| 20

meter. The maximum height attained by the projectile will be,

Options :

71550513463, 5 m

71550513464, 10+v2m
71550513465, 10 m

71550513466. 200 m

Question Number : 39 Question Id : 7155054260 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RITa 9 yafid fPumuuedwm s 9y &t , - gRIfear g, 9iei x U9y
' 20

Hie O 414 70 8 | e gRT WK Afeepad G%arg ghit:

Options:

71550513463. 3 m

71550513464, 10+/2m
71550513465. 10 m

71550513466. 200 m

Question Number : 40 Question Id : 7155054261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bullet of mass 0.1 kg moving horizontally with speed 400 ms™ hits a wooden block of mass 3.9 kg kept on a
horizontal rough surface. The bullet gets embedded nto the block and moves 20 m before conung to rest, The
coefficient of friction between the block and the surface 1

(Grven g =10 m/s*)

Options:

71550513467. 0.25

71550513468, 0.30

71550513469. 0.63

71550513470. 0.90

Question Number : 40 Question Id : 7155054261 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 85 0.1 kg SO 1 % TTel, TRaR &l a0 | W 3.9 ke

100 ms™ BT T Af

EIRUEER

00 i dde | i T

-1

31 Te% U 7 & S o e e

[ﬁm % g=10 111-’3:}

Options:

dh 4 THc

I

71550513467. 0.25

71550513468. 0.30

71550513469. 0.65

71550513470. 0.90

RIIRIR!

:

7% U9 Wl § Ud S P v 4 5gd 20 m Tl

~

S
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Question Number : 41 Question Id : 7155054262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Electric potential at a point P' due to a point charge of 5%107C is 50 V. The distance of 'P' from the point
charge 1s:

| N TN T,
(Assume, ——=9x10 "Nm*C )
4,

Options:

71550513471. 90U cm
71550513472, 3 ¢cm

71550513473, 9 ¢cm

71550513474, 0.9 cm

Question Number : 41 Question Id : 7155054262 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5x10°°C Al [dg 31d% & SR, fdg P R faggd faua so v 71 fdg p @i fag
AT AN ©:

]

_ O 10 N ]
475

(HT.

Options:

71550513471. 90 cm

71550513472, 53 ¢m
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71550513474, 0.9 cm

Question Number : 42 Question Id : 7155054263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The power radiated from a linear antenna ot length [ 15 proportional to

(Given. . = Wavelength of wave):

Options:

[

71550513475. A

/
g,
71550513476, A~

[

71550513477. ( A

2

71550513478, A

Question Number : 42 Question Id : 7155054263 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| TETs, dTe WX a iy UfeAr 9 Uitd g fdfdheor widd 9 & sspdrurd
aidi 2

a@
gcollegedumaa
India’s largest Student Review Platform

S



Options:

/

71550513475. A

/

>

71550513476, A

02

!.r\

4

71550513477. ( A )

,
l_
71550513478, A

Question Number : 43 Question Id : 7155054264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For a grven transistor amplifier cireuit in CE contiguration Ve = 1 V, R = 1 k@, Ry, = 100 kQ and = 100.

Value of base current I, 15

Options:

71550513479, 1p = 0.1 pA

71560512480 1nh =10 pA

a
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71550513481, 1 = 1.0 nA

71550513482, Ip = 100 pA

Question Number : 43 Question Id : 7155054264 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[SU 70 giforeR wadd uRkyy & CE (SUTMY S&ud) AT T, Ve = 1
V.R-=1kQ, Ry, =100kQ Ud p= 100§ YR YRT I, BT T 5

HC=] kil
Rh =] ()1 k(2 '8
! 1".1'5 I{:
—— AWK
B AN
i Iy, “y le

Options:

71550513479, 1p = 0.1 pA
71550513480, 1p = 10 pA
71550513481, 1p = 1.0 pA

71550513482, Ip = 100 pA

Question Number : 44 Question Id : 7155054265 Question Type : MCQ Option Shuffling : Yes Is

H--_-_L:_.-.-. l.-.-.-._.-..h_.----- l._— F-I_--I_L._.--- ‘I_-.-.-. H _______ ':._—_._. - ‘I l 'L:_I- ':.—_—_-_. il ‘.I n l.=-.—=-.--.---.--.
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A radio active material 1s reduced to 1/8 of its original amount 1n 3 days.

If 8107 kg of the material is left after 5 days the initial amount of the material is

Options:

71550513483, 5= &

71550513484, 40 g

71550513485, <30 ¢

71550513486, 04 &

Question Number : 44 Question Id : 7155054265 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®ig Yegiufded gery 3 {3 H Uedm 319+ ardidd |1 &1 1/8 HIT I8 ofdl
21 9fd 5 39 918 841073 ke USTY §9d1 © o1, Yald &1 WRIFS OHE 6

Options:

71550513483, 2
71550513484, 40 g
71550513485, =20 2

71550513486, 04 &

Question Number : 45 Question Id : 7155054266 Question Tvpe : MCQ Option Shuffling : Yes Is

a
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n photo electnc effect

A, The photocurrent 1s proportional to the mtensity of the mcident raciation.

B. Maximum Kinetic energy with which photoelectrons are emutted depends on the mtensity of mcident
light.

C. Max. K.E with which photoelectrons are emitted depends on the frequency of meident light.

D. The emusston of photoelectrons require a mmnmmum threshold mtensity of meident radiation,

E. Max. K.E of the photoelectrons 1s ndependent of the trequency of the incident light.

Choose the correct answer from the options given below:

Options :

71550513487, A and B only

71550513488, B and C only

71550513489, A and C only

71550513490, A and E only

Question Number : 45 Question Id : 7155054266 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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WIS dggd Uy |

A. U U1, 3mufad fafeor & digd & e il o
B. forg aif¥dad Tids FHull T UhI¥ soiag - Soioid oid &, dg fTafad
BT B digal = R 3l B

c. {5 ity TTias ol ¥ W=l 5adeH Icivld oid 6, 98 SHTdidd
UeBIRI 1 31T IR (AU Rl B

D. UBIRI SoaeHl & Sodfoid o (Y 39idd fafdxu @1 U a9 <8l
dladl SATa=g gidl ©

E. T%ﬁdﬁﬁ D1 SHIHTH TS FHol, STYfdd WebT< 1 g IR R
SEHEZGI

- fEU T fadedl & T Jel I -

Options:

71550513489, PdU AUd C

71550513490, 90 AUd E

Question Number : 46 Question Id : 7155054267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The width of fringe 1s 2 mm on the screen 1n a double slits experiment for the light
of wavelength of 400 nm. The width of the fringe for the light of waveleneth 600
nm will be:

Options:

71550513491, 2 mm

71550513492, 3 mm
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71550513493. 4 mm

71550513494, 1.33 mm

Question Number : 46 Question Id : 7155054267 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a9l UG #, 400 nm TTGH & YHT & [0 U4 TR WIS 5591 1 18T 2mm
©1 600 nm TUTCH AT B & oY The 91eTg gl

Options:

71550513491. 2 mm

71550513492, 5 mm

71550513493, 4 mm

71550513494, 1.33 nmun

Question Number : 47 Question Id : 7155054268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The waves emitted when a metal target 1s bombarded with high energy electrons
are

Options:

71550513495, Radio Waves

71550513496, Infrared rays
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71550513497. Microwaves

71550513498, A-1ays

Question Number : 47 Question Id : 7155054268 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
3 G0l a1l SAde -1 I aHaR] YUlfcddd T80 TR - I Scdfuid g5 avl o:

Options:

71550513495, 2ISgl Tl

71550513496, 3add [0l

71550513497, Y& A

71550513498, X-ch U]

Question Number : 48 Question Id : 7155054269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An emt ot 0.08 V 1s induced in a metal rod of length 10 cm held normal to a
uniform magnetic tield of 0.4 T, when moves with a velocity of:

Options:

71550513499, 20 ms™

71550513500, 2 ms™"
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71550513501, 0.5 ms™*

71550513502. 3.2 ms™

Question Number : 48 Question Id : 7155054269 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

0.4 TP (Sl UTHTHH TEDF &7 H, & P TEdd 10 em T TP UTfcdd B
T 0.08 V @1 fdgqd arg® a1 URd gIdT 5. od I8 49 97 9 71fd Bl 5

Options:

71550513499, 20 ms™

71550513500. 2 ms "

71550513501. 0.5 ms™}

71550513502. 3.2 ms™ )

Question Number : 49 Question Id : 7155054270 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and the other 15
labelled as Reason R

Assertion A ; Electromagnets are made of soft iromn.
Reason R : Soft iron has high permeability and low retentivity.

In the light of above. statements. choose the most appropriate answer from the

options given below.
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Options:

71550513503.

71550513504.

71550513505.

71550513506.

A 15 correct but R 1= not correct

A 15 not correct but R 1s correct

Both A and R are correct and R 1s the correct explanation of A

Both A and R are correct but R 1s NOT the correct explanation of A

Question Number : 49 Question Id : 7155054270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_'i

=

L&

gl YA T

I7U g, U Bl 3HfT

HY-

A Ud GH Bl HRUTR Hgl T

ATUHY A : fdggagmad 4349 @8 &I &+ Bl o |
BRI R : 30 Tl H 3= JrEPpRiadl U9 9 YRUTLied grdl o

3udad Y-l & dgH d, Fid fau U fasedi § 9 gl ST g

Options:

21560513503 A Ud R G ol © 94T A Dl Yol IRATR ©

21550513504, A Ud R &FI Tel & dul A Pl Yol URATR 7ol &

71550513505, A T6l 8 T R el ©

=2
71550513506, 4 100 & HXg R <

A s mendesomn

el 6

~

S

Rlsssmalamis o EFMN Mesamdbiam T ¢«  7TAEENAEANIA Masancdioawm Taevnmn o RAFM Muabdioam ClacsEllivaca o« N nem T~
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equivalent resistance between A and B as shown 1n figure 1s:

| Ok €

Options:

71550513507. 5 kQ
71550513508. 10 k£2
71550513509. 20 k£

71550513510. 30 kQ

Question Number : 50 Question Id : 7155054271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GiRId o § A Ud B & did &1 g Wiy 8
| Ok €2

Options:

71550513507. 5 k€2

71550513508. 10 kQ

71550513509. 20 kQ
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71550513510. 30 k€2

Physics Section B

Section Id : 715505262
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505262
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 7155054272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A guitar string of length 90 ¢cm vibrates with a fundamental frequency of 120 Hz.

The length ot the string producing a fundamental frequency ot 180 Hz will be
cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 51 Question Id : 7155054272 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

90 cm TTFET U fTeR T IR 120 Hz B HeHd SATq & H1Y Gl HRdl g1 180
Hz GOYd TG DI Jodel - & (67U dR P 3agP Ty em
Rl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155054273 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A steel rod of length 1 m and cross sectional area 107 m* is heated from 0°C to
200°C without being allowed to extend or bend. The compressive tension produced

-~

i1 the rod 13 «10* N. (Given Young's modulus of steel = 2x101 Nm™.

coctficient of linear expansion = IU_ﬁK_I)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 52 Question Id : 7155054273 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 m Ol UG 10 m? U PIC &AHA dlell Ub LI Dl S5 Pl -1 TR
gU U4 fe1 g3, 0°C T 200°C o T fhaT SdI 51 5 § 3 Uiy d-1d &
o <10* N B (f&a1 8, WId &1 I 0N = 2x 101 Nm 2, 381

TR 0% = 10K )|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

149

Question Number : 53 Question Id : 7155054274 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A hollow spherical ball of uniform density rolls up a curved surtace with an mitial velocity 3 m/s (as shown
figure). Maximum height with respect to the intial position covered by it will be em

(take, g = 10 m/s*)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 53 Question Id : 7155054274 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bz WRAG! UHHHA 9-Icd arall AP Tie, fard] aoh dd U¥ 3 m/s & UREH
o1 9 el 85 dedl o | 18 I UREHS a1 & JUe 59 gRI ad Dl 7Tg
Wm cm BT {Uﬁ:ig= 10 m/s)|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054275 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A body of mass 5 kg is moving with a momentum of 10 ke ms™. Now a force of 2 N acts on the body in the
direction of its motion for 5 s, The merease n the Kinetic eneroy of the body 1 I

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155054275 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 kg SOUHT 1 Plg [UUS, 10 ke ms™ & Ha7T 9 M0 HIIET 81 €, AR 2N
dalﬂm,ﬂﬁaﬂéﬁﬁﬂﬁﬁs%@m RIfUd gId1 g1 fIvs &t 7ifds Sell & gg afa
Jel

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155054276 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 600 pF capacitor 1s charged by 200 V supply. It 1s then disconnected from the
supply and 1s connected to another uncharged 600 pF capacitor. Electrostatic
energy lost in the process 1s i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1M
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Question Number : 55 Question Id : 7155054276 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

600 pF dTd U FYTRA D1 200 V & Hid 9 AT fdrar Irdi g1 [ 349 Aid 9
gel fear 9rd 5&{@3%‘]‘%{60@% d1 ATl ST JUIRA ¥ Wls a1

STl § | 9 Ufhar ¥ fUR dggd &ull § ool oI DI

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054277 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of wavelength of spectral lnes Hy, and Hp in the Balmer series 1s s The value of x 13

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155054277 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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S 3 , . =3 ™, S Yy T G X e
IR YUl H B, Td 5, Wl @13 & qUTSHE] o1 UM ﬁélx¢iHlﬂ gl

A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054278 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two transparent media having refractive indices 1.0 and 1.5 are separated by a
spherical refracting surtace ot radius of curvature 30 cm. The centre of curvature
of surface 1s towards denser medium and a point object 1s placed on the principle
axis 1n rarer medium at a distance of 15 em from the pole of the surtace. The
distance of image from the pole of the surtace 13 cim.,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155054278 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1.0 T 1.5 3Tdd-id dIcl & YRR H189H. 30 om Fvg] 91 MATHER UddE
e & NI UDh-gu H 3(TF1 81 36 ¢ | J¥ Pl abdl -5 U J1e0H & TP ©.
Ud U Ta¢ a3, [aRa H1e09 H, §37 318 IR [dUeH dd & gﬁr 15 cm P GX1

IR 3@l g | faUToH da & Yd 3, Widferd 3i gl |
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054279 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A series combination of resistor of resistance 100 Q. inductor of inductance 1 H
and capacttor of capacitance 6.25 uF 1s connected to an ac source. The quality
factor of the circuit will be

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155054279 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 Q GTd UidRIY, 1 H Udhed aldd W U4 6.25 uF Y1Rdl e HUTRA &
Auiidg TgioH [l Udrad! Hid I S[sT & | URYY &1 Iuradl I0lid g
|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Tavt Araac * PlainTavt
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Possible Answers :

10

Question Number : 59 Question Id : 7155054280 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of magnetic field at the centre of a current carrving coil of radis r to the magnetic field at distance r

from the centre of coil on 1ts axis 18 \/; -1 . The value of x 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155054280 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x (0T el RIGTe ] ol & B N 1Y & . Pl & 3l W 390 3% 9 r g1 R T &
U3 [y ©lx PTHM 2l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155054281 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1

i R f ¥ z -I —q ¥ ] -
The number density of free electrons m copper 15 nearly 8 » 102 m™, A copper wire has 1ts area of cross

. 5.2 1 - . 1 - *
section =2 * 107 m” and is carrying a current of 3.2 A. The drift speed of the electrons 1s

ms™

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

<107

Question Number : 60 Question Id : 7155054281 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f-ml'ijdf SdC Il T ST U THT 8 « 108 B e B U ¢
1070 2 B T 732 A9) YR Wallgd 81 W1 & | Seide i1l Bl ST

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry S

Section Id :
Section Number:

Section type:

R (ST ST FIE 470
%1070 ms™! % |

ection A

715505263
5

Online

hnﬂlﬁﬁl-ﬁ"-ﬁlﬁ-

o
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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505263
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 61 Question Id : 7155054282 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following have same number of significant figures?
A. 000253
B. 1.0003
C. 15.0
D. 163

Choose the correct answer trom the options given below

Options:

71550513521, B and C only

71550513522, € and D only

71550513523, A. B and C only

71550513524, A. C and D only
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g T 9 fogd g sl & G=i 994 82

A. 0.00233
B. 1.0003
C.15.0

D. 163

=1 [T U [deedi H ¥ Iel 3R
Options :

71550513521, Pdd B 34X C

71550513522, hdd C HR D

71550513523, DA A, B 3R C

71550513524, PAd A, C AR D

Question Number : 62 Question Id : 7155054283 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the followimng gases in mcreasing order of van der Waals constant 'a’

A. Ar
B. CH,

C.H,0
D. C<H,

Choose the correct option trom the following.

Options:

71550513525. A.B. Cand D
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71550513526. D. C. B and A

71550513527, B: C. D and A

71550513528. C. D, Band A

Question Number : 62 Question Id : 7155054283 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ars dTd RRIE 'a' & 96d oH § 191 &I oIaiedd &

A. Ar
B. CH,

C.H,0
D. CcHg

=1 fu U fasedl O ¥ Tel 3R I:
Options:

71550513525, A. B, C 3R D
71550513526, D. C. B 3R A

71550513527, B. C. D 3[R A

21550513528, C. D, B 3R A

Question Number : 63 Question Id : 7155054284 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

The correct reaction profile diagram for a positive catalyst reaction.

Options:
jlhll -
Without ~ With
catalyst \/ catalysi

Energy ——

Reactant  produer  Product

=
/71550513529, Reaction Coordinate
: With
p, | Without S catalyst
T catalyst [
2
-
5 _
Reactant Product
/1550513530. Reaction Coordinate
Without
catalyst
T ~ With
E catalyst
-
]
Reactant Product
/1550513531. Reaction Coordinate

T With
| catalyst

“ Without
catalyst

Product

Enerey — =

Reactant Product

) S
71550513532. Reaction Coordinate

Question Number : 63 Question Id : 7155054284 Question Tvpe : MCO Option Shufflina : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TATH® JoRd ANThar & fon 981 HfUThg Uiesd 3R -

Options :

A
Without _  With
T catalyst - \/ catalyst
b 8
—
] %
Reactant  ppgduer  Product
=
/715505135209. Reaction Coordinate
o With
g | Without o~ 7" catalyst
T catalyst [«
o
e
Reactant Product
/71550513530. Reaction Coordinate
Without
catalyst
T  With
B catalyst
G
o~
w
Reactant Product
71550513531, Reaction Coordinate

With
catalyst

'
>
=
i)
=
CL] .

Without
catalyst

Product

Reactant Product

] >
71550513532, Reaction Coordinate
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Question Number : 64 Question Id : 7155054285 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Henry Moseley studied characteristic X-ray spectra of elements. The graph which
represents his observation correctly 1s

Given v = frequency of X-ray emitted

Z = atomic number

Options :

71550513533, Z

71550513534. Vv

1/1

71550513535, Z

L]
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(]

\/

71550513536.

g

Question Number : 64 Question Id : 7155054285 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el i = dadl @ T1afioie X-fhRor e BT 3= fgr| A off 3+
UI&0l &l Hol-Hol Heiud $3dl 6. 98 o

&1 7T § v = Foiold X-fdbrur & g

Z = UIHIU] &)

Options:

71550513533.

-y

/7

71550513534. Vv

a
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71550513535. Z

=

\

71550513536.

N

Question Number : 65 Question Id : 7155054286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Hall - Heroult process, the following 1s used for reducing Al,O; :-

-

Options:

71550513537, NazAlF,

71550513538, Graphite

71550513539, Magnestum

71550513540, Cak»
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Question Number : 65 Question Id : 7155054286 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gld-gulee Wb d 0, 9 U ©F Al,0, & U=+ H SUGNT {41 Il g2

Options:

71550513537, NazAlFg

71550513538. Ul
71550513539, HYIAH

71550513540. ¢ak2

Question Number : 66 Question Id : 7155054287 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can reduce decomposition of H,0, on exposure to light
Options:
71550513541, Alkali

71550513542, Urea

71550513543, Dust

71550513544, Glass containers
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 O U & UhIR &1 IURYd § H,0, & 3{Udc &I °Uel gdl 3?2

Options:

71550513541. &llX

71550513542. !j i

71550513543, 481

71550513544, SINIEARIE

Question Number : 67 Question Id : 7155054288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One 15 labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Sodium 1s about 30 times as abundant as potassium in the oceans.
Reason R : Potassium 1s bigger 1n s1ze than sodium.

In the light ot the above statements. choose the correct answer from the options
aiven below

Options:

71550513545 DBoth A and R are frue and R 1s the correct explanation of A

71550513546 Doth A and R are true but R 1s NOT the correct explanation of A

71550513547. A 1s true but R 15 false
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71550513548, A 15 false but R 1s true

Question Number : 67 Question Id : 7155054288 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-9 gl HUF ST 0 &, UF &l AMNFHYT A Ud g8 I HRUIR Hel T 6

gﬁ-ﬁm A : 9051 1 Tifsay, Uicigg ot e 3, ST 30 THT 3HUS TR
E

HRYIR : GoqH ®1 qa1 1 GIeRgH 3T ATPR §51 6|

Sdad YAl & Yb1e 4, i fGu U fddedi d 9 T8t SR -

Options:

71550513545. A@RWW%HWA &l Tl ARATR ©

J1e50513546. A Ud R &IF Uel & dul A & Yol ARATR el &

71550513547, A Tl & IR~ R T ®

71550513548, ATTAd € RGR eI &

Question Number : 68 Question Id : 7155054289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a good quality cement, the ratio of lime to the total of the oxides of S1, Al and
Fe should be as close as to

Options:

71550513549, 1
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71550513550. 2
71550513551, 2

71550513552, 4

Question Number : 68 Question Id : 7155054289 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U 3w HIfeic] & HHC o o7 g1 Ud Si, Al IR Fe & RSS! DI Sl T
BT SHUTd TTHI I 915T:

Options:

71550513549, 1

I

71550513550.

L

71550513551.

71550513552, 4

Question Number : 69 Question Id : 7155054290 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Match List I wath List I

LISTI

Coordination Complex MNumber of unpaired electrons

A JICH(CN)g] ™ rtp 0000000

EI_

Choose the correct answer from the options given below:

Options:

71550513553, A=, B-IV, C-I, D-III

71550513554, A-1IL B-IV, C-],

D-I1

71550513555, A=l B-1. C-IV, D-III

71550513556, -1V, B-111, C-II.

D-]

LIST II

Question Number : 69 Question Id : 7155054290 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 T [He It 1 9 &3

A [[Cr r:-:;“f}ﬁ 3

E

A4 iU U f[a@ e | 9§ Iel W TH:

Options:

D-III

71550513553, A-1l, B-IV, C-I,
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71550513554, A-IIL B-1V, C-1, D-I1

71550513555, A-II, B-I, C-IV, D-IIT

71550513556, A-LV, B-11I, C-II, D-I

Question Number : 70 Question Id : 7155054291 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of these reactions 1s not a part of breakdown of ozone 1n stratosphere?

Options:

ouv . * .
71550513557, 1201 (8) > Cl(g) + CF, Cl (g)
71550513558, &1 (8) T 05 (g) > CIO (g) + O, (g)

1550513559, ClO (8) + O () ———= Cl (g) + O, (g)

71550513560, CIO > ClO, (g) + CI (g)

Question Number : 70 Question Id : 7155054291 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 O 9 &I 9t siflfchar gHard dsd d Sfie= & faue- o fgw g1 87
Options:

uv - -
___________ CF.(7l. (o) > (1 (oY + OFZ O (o)
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1550513558 Cl (8) + 05 (8) ——> CIO (g) + O, (g)

s1ec0513559 ClO (8) + O (g) ———= Cl (g) + O, (g)

71550513560, ¢ 1O > ClO, (g) + CI (g)

Question Number : 71 Question Id : 7155054292 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Major product 'P' formed in the following reaction 1s:

ff'\‘/‘\’]/ OH Hrl " P
i NaHCO;  Major product
Options:
71550513561. O
HBr

/WUH

71550513562. O
Br

Br OH
71550513563. O
71550513564

~

S
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Br 0O
O

Question Number : 71 Question Id : 7155054292 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?HAHﬁﬁﬁbani{iﬁﬁiﬂi@ﬁi{dx@ﬁii?i?

- I Br, P
2
/\/\Wr NaHCO, Major product

0
Options:

HI‘\/\/\[(OH
71550513561. O

Hr

/Wu11

71550513562. 0
Br

Br _OH
71550513563. O

Br O
71550513564 (:)

~

S
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Question Number : 72 Question Id : 7155054293 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct IUPAC nomenclature for the following compound 1s:
O
CH., CH.
/Nen,” P Ncen”

L

H,C ‘

COOH
Options:

71550513565 =2 - Formyl -5-methylhexan-6-o1c acid
71550513566, J-Formyl -2-methylhexanoic acid
71550513567, J-Methyl-2-oxohexan-6-o1c acid

71550513568 <-Methyl-5-oxohexanoic acid

Question Number : 72 Question Id : 7155054293 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
1% QI &1 Hal [UPAC ATHSRU &:

O

CH, CH
o "

COOH
Options:

21650513565, 2 - BIHA -5-Ade a0 1-6-35H TS

e m rmreeeaces m EmsEegee e Ihﬁn-l . ﬁrﬁlrﬂ;‘dﬂ_ﬂ Ilrj_]i:'
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21560513567 S-HIUT-2-HFH B RH-6-3H5D TS

"-'.

21550513568, 2-HIUd-5-3Hdedd TS

Question Number : 73 Question Id : 7155054294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Th correct order of reactivity of following haloarenes towards nucleophilic substitution with aqueous NaOH 1s

| Cl

05N NO,

Choose the correct answer from the options given below:
Options:
71550513569. A=B =D =C

71550513570. C =A=D>=B

71550513571. D= C>B>=A
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Question Number : 73 Question Id : 7155054294 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

% 5 W & R0, i NaOH & 91 A1Torie] Wi aififaanatt & i foramiiera &1 98t 51 &
AN

A 0
T

B| O

NDE
/\\/C]
e
\//\LIIM-;

NG,

; Cl
Jo
. 'f .

i fu T fodhed 4 § 51 IR T

Options:

71550513569. A=B>D=>C
71550513570. C = A>=D> B
71550513571. D> C=B>A

71550513572. D=B=A>C

Question Number : 74 Question Id : 7155054295 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The descending order of acidity for the following carboxylic acid 1s-

A. CH;COOH
B. F;C-COOH
C. CICH,—COOH
D. FCH,—COOH
E. BrCH,—COOH
Choose the correct answer from the options grven below:

Options:

71550513573. EZD=>=E>A>C
71550513574. E=C=D>=E>A
71550513575. D=B>A>E>C

71550513576. B=D>C>=E>=A

Question Number : 74 Question Id : 7155054295 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Y BT iiggieId 3l & ol 3] &1 Uedl $H o:

A. CH,COOH
B. F;C-COOH

C. CICH,~COOH
D. FCH,—-COOH
E. BrCH,~COOH

=4 [ U fd el # ¥ Tol 3R IA:

Options:

71550513573. E=D=B>=A>C
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71550513574. B=C=>=D>=E=A
71550513575. D=>B>A>=E>C

71550513576. B=D=>C>E>=A

Question Number : 75 Question Id : 7155054296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A compound X' when treated with phthalic anhydride 1n presence of concentrated H,50, yields "Y', "Y' 15
used as an acid/base mndicator. X' and 'Y are respectively

Options :

71550513577 Amsole, methyl orange
71550513578 1oludine, Phenolphthalemn
71550513579 Salicylaldehyde, Phenolphthalemn

71550513580 Carbolic acid, Phenolphthalemn

Question Number : 75 Question Id : 7155054296 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U6 TN X % H,50, B SUrfd 1 3feid URIE35S & WY SUEIRG &% W'Y al g | 'YV &l
UGN 3HI-4R G & &4 H [U o g1 X G 'Y' 3, AT -

Options:

71550513577, SIFHId, HiTT SR
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- e i
21520513578 SIS, PIRIARITH

21550513570 AITHICSBI5S, BHIAFIT

21550513580, PIENCID URTS, BHIGHITH

Question Number : 76 Question Id : 7155054297 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The product (P) tormed from the following multistep reaction 1s:

i Bl-ﬂ_u
No, ) Ph

= (i) H, / Pd |
T — H
() NalNQ., HCL OFC Product

Br

71550513581, H3&

H,C

Options:

71550513582, Hit Hr
I: OH
71550513583, H:¢  ~ B
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Br

71550513584, Hit

OH

Question Number : 76 Question Id : 7155054297 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 gg=Rvil s 4 Hidd 3dmg (P) &

NO,

o

H,C

Options:

Br
71550513581, N3t

71550513582, Hit

71550513583, Hit

Br

O

(ii) Hy / Pd |
E e — = (P)
(iif) NaNO,, HCl, 0°C Product

OH

;

71550513584, Mt

Question Number : 77 Question Id : 7155054298 Question Type : MCQ Option Shuffling : Yes Is

~
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statement/s which are true about antagonists from the following 1s/are:

A. They bind to the receptor site.

B. Get transterred inside the cell tor theiwr action.
C. Inhibit the natural communication of the body.
D. Mimic the natural messenger.

Choose the correct answer from the options given below:
Options:

71550513585, A and B

71550513586. A. C and D

71550513587, B only

71550513588. A and C

Question Number : 77 Question Id : 7155054298 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BEEE GRS INERL (antagonists) G7] E—Eﬂ—ff[ ?ﬁ %’ %

A. T 319 ATE! Jag F AE(Yd Bl B

B. 30 fora & foru SifR1e & 3iax Haikd 81 od B
C. IR F Uipfa® Tox H1d H faxly 39 B o

D. Wi JSRAIEH DI THd Bd B |

1 flu U fae el O 9 Tel 3wk :

Options:

71550513585, AUd B

71550513586. &A. C Ud D
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71550513587, Bdd B

71550513588, AWd C

Question Number : 78 Question Id : 7155054299 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match Last I with List IT

LIST1 LIST II

Natural amino acid One letter code

B [Glutamine | [W 000
D [Typtophan JIVI[Y

Choose the correct answer trom the options given below:

Options:

71550513589, A-IIL B-I, C-IV, D-II

71550513590, A-IIL B-IV, C-I, D-II

71550513591, A-II, B-I. C-IV, D-III

71550513592, A-IV, B-III, C-I, D-II

Question Number : 78 Question Id : 7155054299 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T 1 T [HaH i 1 J B

-_
Dfcers 00 vy 0000000

14 f<U U faoedi | 9§ Tel S =H:

Options:
71550513589, A-IIL B-I, C-IV, D-II

71550513590, A-IIL, B-IV, C-I, D-II

71550513591, A-1l, B-I, C-IV, D-III

71550513592, A-IV, B-III, C-I, D-II

Question Number : 79 Question Id : 7155054300 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:
Statement I : Methyl orange 1s a weak acid.

Statement IT : The benzenoid torm ot methyl orange 1s more intense/deeply
coloured than the quinonoid form.

In the light of the above statement, choose the mosr appropriate answer trom the
options given below:

Options:

71550513593, Both statement I and Statement II are correct

71550513594, Both Statement I and Statement II are incorrect
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71550513595. Statement I 15 correct but Statement II 15 imncorrect

71550513596. Statement I 15 incorrect but Statement IT 15 correct

Question Number : 79 Question Id : 7155054300 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S ECIE R
HYF 1 : HiUT 3RS TP gad KT

Y I : BIUT 3RS DT §195 =4, [HH10s T D -1 H 31D e
T H B

S9dad Hyl & e H, i fqu e fasedl © T Falite Suge 3 94

Options:

71550513593, DY I Ud HY II &IHI Hel 8|

21550513594 YU 1T HUA I HI TAd 6|

J1ec0513505 DU 1 HBI § U] BYU 11 7TaTd 6|

11550513506 DU 1 TTEd § U] DU II gl 6|

Question Number : 80 Question Id : 7155054301 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Grven below are two statements:

Statement I : In redox titration, the indicators used are sensitive to change in pH
of the solution.

Statement IT : In acid-base titration. the indicators used are sensitive to change in
oxidation potential.

In the light of the above statements, choose the most appropriate answer from the
options given below

Options:

71550513597. Both Statement I and Statement I are correct

71550513598. Both Statement I and Statement II are incorrect

71550513599, Statement [ 1s correct but Statement II 1s incorrect

71550513600. Statement I 1s incorrect but Statement IT 15 correct

Question Number : 80 Question Id : 7155054301 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I g HYA WE{%

HYF 1 : RS AT H 7T {6y 5T aTel Yad faag- & pH H 9Rad &
gfd Hag-T=id 81 B

BY I : 3I-&R SFTHTIH H WA {3 O a7 YaD SIS0 [dHd &
qRad & Wit Hdeasiid sid © |

39dad dyHl & Y 1§, 414 fdu v fawedl & 4 walite 3ugad 3R 94:

Options:

21550513597, DU I Ud HY 11 &IHI Hel 6|

71550513598, DY 1 Ud HYA 11 &HI 7Ted 6 |
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71550513599, PU L el & UR-q HU 11 7Ted 3 |

1550513600 PYUT 1 TTEId & UR=] &Y 11 el g
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Question Number : 81 Question Id : 7155054302 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of atomic orbitals trom the following having 5 radial nodes 1s

Ts. Tp. 6s, 8p. 8d

Resnonse Tvbe : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 81 Question Id : 7155054302 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 U] S&13H § H 5 S 18 3@+ dicl Daid| bl H&]

Ts. Tp. 6s, 8p. 8d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054303 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of species from the following carrying a single lone pair on central
atom Xenon 1s

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155054303 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 H 3 W=l &1 G- [5Hd d-%1d GIHET] S UR ddd U THIohl
g 3UfRYd §

XeF: ', XeO3, XeO,F,, XeF: , XeOqF,, XeOF,, XeF,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054304 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For complete combustion of ethene,

)+ 305(g) — 2C04(g) + 2H;0 ()

C,H.

no

the amount of heat produced as measured in bomb calorimeter is 1406 kI mol™ at 300K. The minimum value
of TAS needed to reach equilibrium 15 () k].(Nearest mteger)

Given: R=8.3 TK™! mol™

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155054304 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ui % gl &8 & iU €, Hy(e) = 30,(2) — 2C0,(g) = 2H,0 (1)

300K 9 BaRITTeR & A7l 7l 31 1406 kT mol™! B FRTGRYI R UG & TAS 1 7 T 6:(-)
kI |(FHdeds Ui 1)

U T e: R=8.3 T K~ mol™!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155054305 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the boiling points of two solvents X and Y (having same molecular weights) are
in the ratio 2:1 and their enthalpy of vaporizations are in the ratio 1:2. then the
boiling point elevation constant of X 15 m times the boiling point elevation
constant of Y. The value of m 1s (nearest integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 84 Question Id : 7155054305 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HUMHR @G- aTel &l [darg®i X Ud Y & SYIdR] &1 301 2: 1%?{%&
I a1 1 TR BT UM 1:2 T X & BYIP 3951 RRIP, Y S
HUFD IATH RS B m lﬁ%l m DI HAF S (ﬁd}ddﬂwfﬁ

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155054306 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The solubility product of BaSO, 15 1 10717 at 298K. The solubility of BaSO 410
0.1 M K550, (aq) solution 1s « 1077 g L7} (nearest integer).

Given: Molar mass ot BaSO,1s 233 g m:::l_1
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 85 Question Id : 7155054306 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
298K UR BaSO,, &I faaiddl UMW 1210719 §1 0.1 M K,SO, (aq) [daaq I

BaSO, P [t x 107° g L™ & (Mean quile #)

f&T 747 §: BaSO, &1 TR G000 233g mol 1 §

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155054307 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of incorrect statements trom the following 1

A. The electrical work that a reaction can perforn at constant pressure and temperature is equal to the
reaction Gibbs energy.
B. E°_.j 1s dependent on the pressure.

L dE ‘cell  AS'

d nF
D. A cell 15 operating reversibly if the cell potential 1s exactly balanced by an opposing source of potential
ditference.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 86 Question Id : 7155054307 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
MY T o Sl B EE §:

e

A, FRR 279 U4 19 R ol fiiehan g fopan o -t aren faqgd P afisfopar 1 et 39 &
TR _ﬁ
B.E° T8 R R A5

dE cell _ AS

[ —

dT nk
D. U6 G SehAiid &0 1 &1 & W61 ¢ 4 9 fava famdta 9id & favamR & fergd et gl

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155054308 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Coagulating value of the electrolytes AlCl; and NaCl for As,S, are 0,09 and 50.04 respectvely. The

coagulating power of AlCl; 1s x times the coagulating power of NaCl. The value of x 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 87 Question Id : 7155054308 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As,$, D & o (oU fagqd TUe] AlCl, Ud NaCI®T ©he A HHYE: 0.09 Td 50.04 31 AICL, @
T 4TI NaCl T &0l x AT B 1 x DI A 3

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054309 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The ratio of sigma and 7 bonds present in pyrophosphoric acid 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155054309 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qUYIh b1 33 § 3UiRYd RHT Ud » &=1i &1 3HU1d B

Dacrnnanea Tivrna * Niirmarie
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Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155054310 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of oxidation state of the metals in Fe(CO);, V 0°" and WO; 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 89 Question Id : 7155054310 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fe(CO)<, VO™ Ud WO, H T3l & T 0T Temr3fi 1T g -

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 90 Question Id : 7155054311 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The observed magnetic moment of the complex [Mn(NCS)¢)[" 15 6.06 BM. The numerical value of x 1

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155054311 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHd [Mn(NCS) )" B1 W IHEDIT Y0l 6.06 BM & | x BT HH B:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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